



Properties of block derangements

Hossein Moshtagh · Reza Fallah-Moghaddam

Received: 26 February 2023 / Accepted: 24 September 2024 / Published online: 24 October 2024
© The Indian National Science Academy 2024

Abstract A derangement is a permutation that has no fixed points. In this paper, we study a subclass of derangements on $r + n$ objects such that none of the first r objects returns to the first r objects location. We determine explicit formulas and recurrence relations for the number of this subclass of derangement. Also, the probability that a permutation is in this subclass of derangements is close to $1/e$. Finally, we will present the Stirling transformation formula of these numbers.

Keywords Derangement · Block derangement · Asymptotics · Stirling transform

1 Introduction

The introduction of derangement numbers goes back to as early as 1708 when Pierre Rémond de Montmo was counting the number of derangements on n letters (see [4, 5]). Suppose that S_n is the symmetric group on the set $[n] = \{1, 2, \dots, n\}$. A derangement is a fixed point-free element of the symmetric group S_n . The set of these permutations on S_n is denoted by $\mathcal{D}_n$. In other words,

$$\mathcal{D}_n = \{\pi \in S_n : \pi(i) \neq i \text{ for all } 1 \leq i \leq n\}.$$

Also, let $D(n) = |\mathcal{D}_n|$. The inclusion–exclusion principle gives

$$D(n) = n! \sum_{k=0}^n \frac{(-1)^k}{k!},$$

and that

$$\lim_{n \rightarrow \infty} \frac{D(n)}{n!} = \frac{1}{e}.$$

Assume that $D(0) = 1$ and $D(1) = 0$. Then the number $D(n)$ is related to the numbers $D(n - 1)$ and $D(n - 2)$ (with $n \geq 2$) through a closed-form recursive relation

$$D(n) = (n - 1)(D(n - 1) + D(n - 2)).$$

Communicated by Arvind Ayyer.

H. Moshtagh ()
Department of Computer Science, University of Garmsar, 3588115589 Garmsar, Semnan, Iran
E-mail: h.moshtagh@fmgarmsar.ac.ir

R. Fallah-Moghaddam
Department of Mathematics Education, University of Farhangian, P. O. Box 14665-889 Tehran, Iran
E-mail: r.fallahmoghaddam@cfu.ac.ir

In [6], authors started investigating a subclass of derangements on $r + n$ letters which restrict the first r of these to be in distinct cycles. (Such derangements are called r -derangement.) The number of r -derangements is denoted by $D_r(n)$.

Theorem 1 [6, Theorem 4] *Let $r \in \mathbb{N}^+$ and $s \in \{1, \dots, r\}$. Then for each $n \geq s$ we have*

$$D_r(n) = \sum_{j=s}^n \binom{j-1}{s-1} \frac{n!}{(n-j)!} D_{r-s}(n-j).$$

In particular,

$$D_r(n) = \sum_{j=r}^n \binom{j-1}{r-1} \frac{n!}{(n-j)!} D(n-j), \quad n \geq r.$$

Additionally, we have a closed formula for r -derangements numbers:

$$D_r(n) = \sum_{j=r}^n \binom{j}{r} \frac{n!}{(n-j)!} (-1)^{(n-j)}, \quad n \geq r.$$

In this paper, we study a subclass of derangements on $r + n$ letters such that none of the first r letters return to the first r locations. More formally, let S_{r+n} be the set of permutations on the set $[r + n]$ and consider the following:

$$\mathcal{D}(r, n) = \{\pi \in \mathcal{D}_{r+n} : \pi(i) \neq i \text{ for all } 1 \leq i \leq n + r \text{ and } \pi(i) \notin [r] \text{ for all } i \in [r]\}.$$

We termed this set as *block derangements*. Also, let $D(r, n) = |\mathcal{D}(r, n)|$. In this paper, we obtain a relation between block derangements and r -derangements (which is defined in [6]) on S_{r+n} .

Remark 1 It follows from the definition of block derangements that n must be greater than or equal to r . For $n < r$, we have $D(r, n) = 0$. Now let $r = 0$. Then we have

$$D(0, n) = D(n) \text{ and } D(1, n) = D(n + 1).$$

Thus the block derangement is a generalization of the derangement.

The Stirling number of the second kind $S(n, k)$ is the number of partitioning a set of n elements into k nonempty subsets. By [3], for given power series

$$f(t) = \sum_{n=0}^{\infty} \frac{a_n}{n!} t^n$$

we have the series transformation formula

$$f\left(\frac{\mu}{\lambda}(e^{\lambda t} - 1)\right) = \sum_{n=0}^{\infty} \frac{t^n}{n!} \left\{ \sum_{k=0}^n S(n, k) \lambda^{n-k} \mu^k a_k \right\} \quad (1)$$

where λ and μ are parameters. Let n be a nonnegative integer. The integers $b_n = \sum_{k=0}^n S(n, k)$ are known as Bell numbers. They give the number of ways a set of n elements can be partitioned into nonempty disjoint subsets. In this article, we prove the following results.

Theorem 2 *Suppose r and n are integers and $1 \leq r \leq n$. Then*

$$D(r, n) = r! \sum_{i=r}^n (-1)^{n-i} \binom{i}{r} \frac{n!}{(n-i)!}.$$

Theorem 3 *Suppose r and n are integers and $1 \leq r \leq n$. Then $D(r, n) = r! D_r(n)$.*



Theorem 4 Suppose r and n are integers and $1 \leq r \leq n$. Then for each r the sequence $\left\{ \frac{D(r, n)}{(r+n)!} \right\}_{n \geq 1}$ tends to $1/e$.

Theorem 5 Let r and n be integer numbers. Then we have

$$\sum_{k=0}^n (-1)^k S(n, k) D(r, k) = \sum_{j=0}^n \sum_{i=0}^r (-1)^{n+i+r-j} r! \binom{r}{i} (1+i)^{n-j} b_j.$$

In [6, Theorem 6], it was shown that for each $r \in \mathbb{N}^+$, the sequence $\left\{ \frac{D_r(n)}{(r+n)!} \right\}_{n \in \mathbb{N}}$ is convergent to $\frac{1}{r!e}$. Now, we can use Theorem 4, to establish asymptotic estimates for r -derangements in another way. Also, according to Theorem 3, it can be obtained, similar to the main results in [6], some conclusions about the number $D(r, n)$, so we avoid repeating them here. In Sect. 2, we obtain the recursion formula for $D(r, n)$. Then we prove the main results of this section. Boyadzhiev gave an interesting combinatorial Stirling transform of derangement numbers in [2]. Similarly, at the end of Sect. 2, we obtain the Stirling transformation formula of $D(r, n)$.

2 Properties of the number $D(r, n)$.

Throughout this section, the set $\{1, 2, \dots, n\}$ and the set $\{i, i+1, \dots, j\}$ are denoted by $[n]$ and $[i, j]$, respectively. Also, assume that a permutation $\pi \in S_n$ is represented as the word $\pi(1)\pi(2)\dots\pi(n)$. Assume that $\Delta = [r]$ and denote by $\pi(\Delta)$, the action of a permutation $\pi \in S_{r+n}$ on the set Δ by defining $\pi(\Delta) = \{\pi(x), x \in \Delta\}$. Obviously, A derangement $\pi \in S_{r+n}$ is a block derangement if and only if $\pi(\Delta) \cap \Delta = \emptyset$.

Theorem 6 If r and n are integers and $1 \leq r \leq n$, then

$$D(r, n) = n(rD(r-1, n-1) + D(r, n-1)).$$

Proof Assume that $\Delta = [r]$, when $r, n \in \mathbb{N}$ and $r \leq n$. Let $\pi \in \mathcal{D}(r, n)$ be a block derangement, such that $\pi(1) = k$. Hence, $k \in [r+1, r+n]$. According to the possibilities of $\pi(k)$, there are two cases to consider.

In the first case, assume that $\pi(k) \in [r]$. We define $\pi' \in S_{r+n-2}$ as follows:

$$\pi'(i) = \begin{cases} \pi(i+1) - |\{j \in \{1, k\} : \pi(j) < \pi(i+1)\}| & \text{if } 1 \leq i \leq k-2 \\ \pi(i+2) - |\{j \in \{1, k\} : \pi(j) < \pi(i+2)\}| & \text{if } k-1 \leq i \leq n+r-2 \end{cases}$$

Let $i \in [r-1]$. We know that $\pi(1) = k, \pi(i+1) \neq k$ and $r < \pi(i+1)$. So, we have two sub-cases.

(1) Let us assume that $\pi(i+1) < k$. Therefore, $\pi(k) \leq r < \pi(i+1) < k$. Consequently,

$$\pi'(i) = \pi(i+1) - 1 > r-1.$$

(2) Now, consider the case $\pi(i+1) > k$. Thus, $\pi'(i) = \pi(i+2) - 2$. But, we know that $\pi(i+1) > k$. Also

$$\pi(i+1) - r > k - r \geq (r+1) - r.$$

Then, $\pi(i+1) > r+1$ and $\pi'(i) > r-1$.

From the above discussion we know that $\pi'(\Delta') \cap \Delta' = \emptyset$ for $\Delta' = [r-1]$.

Now, we can show that $\pi'(i) \neq i$ for all $1 \leq i \leq r+n-2$. Let $k-1 \leq i \leq r+n-2$ and $\pi(i+2) > k$. On the contrary, assume that $\pi'(i) = i$. Then, $\pi(i+2) - 2 = i$. So, $\pi(i+2) = i+2$. This leads to a contradiction with $\pi \in \mathcal{D}(r, n)$. By the simple calculation in other cases, we can show that π' is a derangement on the set $[1, r+n-2]$ and so $\pi' \in \mathcal{D}(r-1, n-1)$.

According to the choice of $k \in [r+1, r+n]$ and $\pi(k) \in [r]$, in this case, we obtain that the number of all permutations is $nrD(r-1, n-1)$.

In the second case let $\pi(k) \in [r, n]$. Consider $\pi' \in S_{r+n}$ as follows:

$$\pi'(i) = \begin{cases} \pi(i) & i \in [r+n] - \{1, k\} \\ \pi(k) & i = 1 \\ k & i = k \end{cases}$$



Hence, we can define $\pi'' \in S_{r+n-1}$ by the rule:

$$\pi''(i) = \begin{cases} \pi'(i) - |\{j \in [k] : \pi'(j) < \pi'(i)\}| & \text{if } 1 \leq i \leq k-1 \\ \pi'(i+1) - |\{j \in [k] : \pi'(j) < \pi'(i+1)\}| & \text{if } k \leq i \leq r+n-1 \end{cases}$$

By a similar argument as in the previous case, we conclude that $\pi'' \in \mathcal{D}(r, n-1)$. Since $k \in [r+1, r+n]$, the number of permutations in this case is $nD(r, n-1)$. $\square$

Remark 2 The recurrence in Theorem 6 generalizes the well-known recurrence for the derangements. Set $r = 1$ in Theorem 6 to get that $D(1, n) = n(D(0, n-1) + D(1, n-1))$ and hence $D(n+1) = n(D(n) + D(n-1))$.

Now we are ready to prove the main results of the paper, which state the properties of $D(r, n)$.

Proof of Theorem 2 We will apply the inclusion–exclusion principle. Consider that $\mathcal{A}_i = \{\pi : \pi \in S_{r+n}, \pi(\Delta) \cap \Delta = \emptyset, \pi(i) = i\}$, where $\Delta = [r]$ and $r+1 \leq i \leq r+n$.

Let $\pi \in \mathcal{A}_i$. As $\pi(i) = i$ for some $r+1 \leq i \leq r+n$, we can choose the string $\pi(1)\pi(2) \dots \pi(r)$ in $\binom{n-1}{r} r!$ ways and we can choose the string $\pi(r+1)\pi(r+2) \dots \pi(r+n)$ in $(n-1)!$ ways. Hence, $|\mathcal{A}_i| = r! \binom{n-1}{r} (n-1)!$. By the same argument as above, we have

$$|\mathcal{A}_{i_1} \cap \mathcal{A}_{i_2} \cap \dots \cap \mathcal{A}_{i_k}| = \begin{cases} r! \binom{n-k}{r} (n-k)! & \text{if } r \leq n-k; \\ 0 & \text{otherwise,} \end{cases}$$

where $i_j \in [r+1, r+n]$ and $j \in [k]$. Then, by the inclusion–exclusion principle, we have

$$\begin{aligned} \left| \bigcup_{i=1}^n \mathcal{A}_{r+i} \right| &= \sum_{\emptyset \neq I \subseteq [n]} (-1)^{|I|-1} \left| \bigcap_{i \in I} \mathcal{A}_{r+i} \right| \\ &= \sum_{k=1}^{n-r} (-1)^{k-1} r! \binom{n-k}{r} \binom{n}{k} (n-k)! \\ &= \sum_{j=r}^{n-1} (-1)^{n-j-1} r! \binom{j}{r} \frac{n!}{(n-j)!}. \end{aligned}$$

So,

$$\begin{aligned} D(r, n) &= |\{\pi : \pi \in S_{r+n}, \pi(i) \notin [r] \text{ for all } i \in [r]\}| - \left| \bigcup_{i=1}^n \mathcal{A}_{r+i} \right| \\ &= r! \sum_{j=r}^n (-1)^{n-j} \binom{j}{r} \frac{n!}{(n-j)!}. \end{aligned}$$

$\square$

Proof of Theorem 3 Equality comes directly from the third formula in Theorems 1 and 2. Then, the proof of theorem is straightforward. $\square$

Proof of Theorem 4 Since $D(r, n)$ is the size of a subclass of derangements on $r+n$ objects, thus $D(r, n) \leq D(r+n)$. In order to construct a permutation in $D(r, n)$, since none of the first r objects returns to the first r object's location, we choose r elements from the set $[r+1, r+n]$. These elements can be ordered in $r! \binom{n}{r}$ ways. Then, n elements of the remaining $r+n$ elements of the permutation can not be fixed points. Hence, the elements in these remaining n positions can be ordered in more than $D(n)$ ways. Thus, $r! \binom{n}{r} D(n) \leq D(r, n)$. So for any integer $n \geq 1$, we obtain the following inequality

$$r! \binom{n}{r} D(n) \leq D(r, n) \leq D(r+n).$$

In order to prove the theorem, it suffices to divide the previous inequality by $(r+n)!$ and let n tend to $+\infty$. $\square$



In [6, Theorem 3], it was shown that for each $r \in \mathbb{N}^+$, the exponential generating function of the sequence $\{D_r(n)\}_{n \geq 1}$ is

$$F_r(x) := \sum_{n=0}^{\infty} \frac{D_r(n)}{n!} x^n = \frac{x^r}{(1-x)^{r+1}} e^{-x}.$$

Let $D_r(x)$ be defined as the exponential generating function of the sequence $\{D(r, n)\}_{n \geq 1}$. In other words,

$$D_r(x) = \sum_{n=0}^{\infty} D(r, n) \frac{x^n}{n!}. \quad (2)$$

Theorem 7 Suppose r and n are integers and $0 \leq r \leq n$. Then

$$D_r(x) = \frac{r! x^r}{(1-x)^{r+1}} e^{-x}.$$

Proof The formula for the exponential generating function of the sequence $(D(r, n))_{n \in \mathbb{N}}$ follows directly from the identity $D(r, n) = r! D_r(n)$ and the formula for the exponential generating function of the sequence $(D_r(n))_{n \in \mathbb{N}}$. Therefore,

$$D_r(x) = \sum_{n=0}^{\infty} \frac{D(r, n)}{n!} x^n = \sum_{n=0}^{\infty} \frac{r! D_r(n)}{(n-1)!} x^n = r! F_r(x).$$

This completes the proof. $\square$

Proof of Theorem 5 We apply property (1) with $\lambda = 1$ and $\mu = -1$ to the generating function (2), replacing x with $e^t - 1$. This gives the representation

$$D_r(-(e^t - 1)) = \sum_{n=0}^{\infty} \frac{t^n}{n!} \left\{ \sum_{k=0}^n (-1)^k S(n, k) D(r, k) \right\}. \quad (3)$$

By [1], the exponential generating function for the Bell numbers is

$$e^{e^t - 1} = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}.$$

Therefore, by Theorem 7, we have

$$\begin{aligned} D_r(-(e^t - 1)) &= (-1)^r r! e^{-t} (1 - e^{-t})^r e^{e^t - 1} \\ &= (-1)^r r! \left(\sum_{n=0}^{\infty} \sum_{i=0}^r (-1)^{n+i} \binom{r}{i} (1+i)^n \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} b_n \frac{t^n}{n!} \right) \\ &= (-1)^r r! \sum_{n=0}^{\infty} \frac{t^n}{n!} \left\{ \sum_{j=0}^n \sum_{i=0}^r (-1)^{n+i-j} \binom{r}{i} (1+i)^{n-j} b_j \right\} \end{aligned} \quad (4)$$

The equality of the theorem follows immediately by comparing the representations (3) and (4). $\square$

Acknowledgements The authors deeply thank the reviewer for his/her constructive, skillful and detailed suggestions on the revision of the paper.

Declarations

Conflict of interest The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.



References

1. K. N. Boyadzhiev, A series transformation formula and related polynomials, *Internat. J. Math. Math. Sci.*, **23**(2005), 3849–3866.
2. K. N. Boyadzhiev, New identities with stirling, hyperharmonic and derangement numbers, bernoulli and euler polynomials, powers and factorials, *J. Comb. Number Theory*, **11**(1)(2020), 43–58.
3. K. N. Boyadzhiev, *Notes on the Binomial Transform*, (World Scientific 2018).
4. L. Carlitz, The number of derangements of a sequence with given specification, *Fibonacci Quart.*, **16**(3)(1978), 255–258.
5. R. J. Clarke, M. Sved, Derangements and Bell numbers, *Math. Mag.*, **66**(5)(1993), 299–303.
6. C. Wang, P. Miska, I. Mező, The r -derangement numbers, *Discrete Math.*, **340**(7)(2017), 1681–1692.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Springer Nature or its licensor (e.g. a society or other partner) holds exclusive rights to this article under a publishing agreement with the author(s) or other rightsholder(s); author self-archiving of the accepted manuscript version of this article is solely governed by the terms of such publishing agreement and applicable law.

